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SECTION-I
GENERAL ENGLISH COMPREHENSION

Direction (Question No.1 to 5) : Read the following passage carefully and choose the best answer out of
the four choices given after each question that follows :

Self-directed learning, in its broadest meaning, describe a process in which individuals take the initiative
with or without the help of others, in diagnosing their learning needs, formulation of learning goals,
identifying resources for learning, choosing and implementing learning strategies and evalugting learning
outcomes. Thus, it is important to attain new knowledge easily and skilfully for the rest of his or her life.
What is the need for self-directed learning ? One reason is that there is convincing evidence that people,
who take the initiative in learning, learn more things and learn better than people waiting to be taught. The
second reason is that self-directed learning is more in tune with our natural processes of psychological
development; an essential aspect of maturing is developing the ability to take increasing responsibility of
our own lives to become increasingly self-directed. The third reason is that many of the new deve;'opmém
in education put a heavy responsibility on the learners to take a good deal of initiative in their own learning.
To meet the challenges in today’s instructive environment, self-directed learning is most essential.”

1. [n self-directed learning, an i_n_diiid_uil:
(A)  takes initiative with or without the help of others
(B) is passive and waits for directions

(C) is helpless and dependent
(D) takes initiative, without an objective

o]

There is need for self-directed learning because :

cost-effective method

(C) it is more
(D) it is a modern method of learning
6 Which word best describes self-directed learning ?
" (A) Active learning
(B) Passive learning
() Compulsory learning
(D) Repulsive learning
4. The modern environment according to the author is :
(A) restrictive

(B)» instructive

(C) less developed

(D) impracticable
5. The synonym of the word ‘diagnosing’ is :

(A) searching S

(B)e  examining

(C)-  identifying

(D) complying
Direction (Question No.6 to 9) : Out of four alternatives, choose the one which can be substituted for the
given words/sentences :

6. A strong dislike :
(A) Reciprocity

(B) Entreaty
(C)»  Animosity
(D) Malice
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7 A place where birds are kept :

(A)e  Aviary
(B) House
©) Aquarium
(D) Apiary

8. Loss of memory :

(A)e  Ambrosia
(B) Amnesia
(©) Insomnia
(D) Forgetting

9. A study of sounds :
(A) Semantics
(B) Stylistics
(®) Linguistics
(D)e  Phonetics

Direction (Question No.10 to 12) : Select the most suitable alternative to fill in the blank/blanks in the
sentence to make it meaningful :

10.  In order to maintain good health one should eata diet.
(A) rich
| (B) spice
& (C)e  balanced
< (D) salty
LL; 11.  The Police the mob.

(A)s  scattered
(B) disbanded
() drove

(D) dispersed

Kll The shepherd was looking after the of sheep
) (A) crew
(B)e gang
(C) fleet
(D) flock

Direction (Question No.13 to 15) : Fill up the blanks with suitable prepositions from the alternatives given
under each sentence :

i 13, The visit of the P.M. has been advanced two days.
(A)e for
(B) by
(&) to
(D) None of the above
14, Normally he stays until 11 p.m. these days
(A)e up
(B) out
(C) on
(D) None of the above
15.  The history of Hindu religion dates ancient times.
(A)e from
(B) since
| (©) for
» (D) None of the above
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SECTION-IT
(@ve-mm)

GENERAL HINDI

(e o)
ﬁéﬂ(ﬁﬁ'\%—mﬁzo):ﬁéﬁﬁwwﬁaﬁm@w@n@%ﬁmﬁmﬁﬁﬁﬁwaﬁm

= A # 97 & w9 7P 78 & g7 @ e w7 7 ) gEre e & o7 afvar 3t it
5o/ o Tt 7 98w el G FEKT VET & g Hie e 7 Ve &
gor T @ @ 7 & forel A @A @ S @ R 5w GeqlT @ & 7 A )

it 7 B &) W Y e R 3 o o T 1% @ 3T o il wel 7Y 2 A e

I FTTEAT ”Eff &Yl |

16. THe®! Qo §ad 78 Bl € 7

(A)  THE @I
(B)e O &I
© HqEHH B
(D) U< @

17. a1 AT e & e
(A) urst favan

(B) T

. papp— —
-

18. Q9P ylosr il 7t @, o= o
(A)e o7 ORI
(B) TS $HodmT fdar
(€ -9 US U fod

(D) 3 4§ S
19. g 9% 1 @ T foE
(A) g T fear

@B) fagml & wee fbar
(C)e AT THIA B HaATg DI
(D) o< Fiecd @l T @l

20. {4 FATS fhge) SURIAT 8] Rl & 2

A g
B) &M
©
(D). @l
21 4 ® a9 I B & 7
(A)  HUE
B) fdare
(C)e @M
(D) BIg &
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22,  §dIM v fee WA W WY B € 2
(A) W
(B)s 9l
(©)
o) b
23, e ¥ Ay @ wuiEerd) v @
(A)e WHR
(B) 3
(C) RN
(D) d]d
24, IRG BT AR BT B A E
(A)» WIRT BT
@®)  anl g
(C) U™l Al
(D) W3 QN B
25.  ‘gfe quf B O Baw el B | TSR ¢
(A)e Ol YIHTA FT
(B) G P @
(©) T oS T
(D) G o @ 4
26. 'Ted A4l A oK @ &/ SR § - -
(A)e MR TAHM B B "
(B)  3uf FHHA HIel B
() | qoa @ a1
(D) <Ugw A 9 BIE T8
27. yd e
(A) g7 —
(B)e SN -
(© N[g —
(D) N
28 TIAIT WS N GOW B
(A). ¥
B) -
©)
(3
29.  Uui @1 WE Gfu-fawe
(A) T+ T
(B)» TR + &H
© T+ I
(D) T+ 9+
30. @it 7 fiEm B
(Ap DI
(B)  ST@Ifa
(©)
(D)
[Series-A] [CET-BED : 2021] [Page- 4]



SECTION-III
(@Ue-111)

LOGICAL AND ANALYTICAL REASONING

(fd® Td faverea fom)

Directions (Question Nos.31 to 35)

All the six members of a family A, B, C, D, E and
F are travelling together. B is the son of C but C is
not the mother of B. A and C are a married couple.
E is the brother of C. D is the daughter of A. F is
the brother of B.

On the basis of above information answer the
following questions :

32.

(s
Lad

34.

35.

How many male members are there in the

family ?

(A) 1

(B) 3

(C) 2

(D) 4

‘Who is the mother of B ?
(A) D

(B) F

(©) E

(D) A

How many children does A have ?
(A) One

(B) Two

(C) Three

(D) Four

Who is the wife of E ?
(A) A

(B) F

(C) B

(D) None of the above

Which of the following is a pair of females
?

(A)  AE
(B) BD
(C)  DF
(D) AD

Directions (Question Nos.36 to 40)

In each of the following questions four possible
answer are given. Find out the most suitable
answer.

36.

Children should avoid smoking because :
(A) it is a bad habit

freer (e wHo-31 ¥ 35)

IR & T B: e A, B, C, D, E 3R F (& w1
AT W ¥ | WEW B UG CH YF & olfdd Gew
C U BB AT 78l 2| A 3R ¢ faifed |8 &
e VTG & 9ew® C | DY & A @ | gew
FHE & 96 B &

SUYH Gl B AR W Efiad yeHl & I
T
31 oReR A e goy wew § ?
A 1
B) 3
© 2
(D) 4
32, B @) A B 7
(A) D
B) F
©) E
(D)- A
33. Al feadem €7
Aa) U
® @
©-
(D) E@R
3. E @ uel oF 2 ?
(A) A
B) F
© B .
(D) IWH H F B A
35.  foAfead ® B9 AteeT o g 8 ?
(A)  AE
(B) BD
(C) DF
(D)* AD
Frewr (et %o—36 % 40)
frferiaa se uet @ forg 23 v AR whnfaa
ST A 9 STYRT T G |
36, q@ll B QHUE § ga ARG i

(A)  UE R ed B

(B) elders advise them not to do so - e =
(C) 1t is an unnecessary expenditure (_B) 9 | W el @ HellE < &
(D) it is injurious for health () T8 VP 990G EY &
(Dye T WR & foru wifvans =
[Series-A] (CET-BED : 2021] [Page- 5]
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37. Ice floats on water because : 37. 9% UF W o)Al & @i
(/BX) it is transparent (A) T8 gred 2
(B) it is spongy o
(C) its weight is less than the weight of (B) ¥ Wi
water of equal volume (C)+  THH AR ¥ BT & S(ivad T
(D) it is a substance which melts JTT B U B AR |
quickly (D) Ig 1 uerf ® O Siew fuedr €
38. Peoples use rubber soles in their shoes, 38 o I G{(ﬁ’ H YR BT Foall T X ¢,
because : T o
(A) They are fashionable (A) e ﬁﬁiﬂﬁ ¥
(B) Rubber is more porous than leather %
(C)  They produce less sound (B) Wy, T W I w Bl 8
(D)  They are durable (C)» T TH AT B &
(D) 1P B B »
39. A deafis ‘always dumb’, because : 39. &1 BRI I B 8, RIS "
:g)) " lssbz:n Soll nected to throat 63 i QT‘" Bl o feren %
ear is internally connecte roa R .
©) deaf and dumb are synonyms (B)e ?:{ ERCIE el &Il
(D) speaking is learnt by hearing from e
others (C) T 3R TET 99 8
(D) ¥& T& ¥ AR Ao Uiga &
40. Platinum is more costly than silver because 40, @97 ¢ § FUWS 77 &, Al
itis @) aRE
(A) heavier , 3
(B)  whiter B) §wIE
©) rarely found (Cy»  ®H U S AT
(D) harder (D)  FER &
Directions (Question Nos.41 to 45)° ﬁ‘é‘ﬂ (m ‘\qo—41 T-\’{_)
In each of the following questions an incomplete %,,_’:T; TE U A U Y0 GE&m @l m
series of numbers with one blank is given. Identify & 84 0 P
1SS1 " Al fegas gl 8] Raad §=A1 @l Tgdi Y|
the missing number from the given alternatives.
41: 3,579 4] 3,5,7,9,
(A) 01 (A) 01
(B)» 11 (B)s 11
< 13 (C) 13
b (D) 10 (D) 10
(12.) 3,6,8,16,19,, 42. 3,68, 16,19,
@A) 21 (A) 21
(B) 38+ (B) 38
(€) 35 (C) 35
(D) 36 (D) 36
43. 1,5,13, 29,61, 43, 1,5, 13,29, 61,
(A) 90 (A) 90
(B) 103 (B) 103
(©) 109 (<) 109
(D)e 125 (D)e 125
44.  3,11,23,39, 59, 44. 3,11,23,39,59,
(A) 63 (A) 63
(B) 73 (B) 73
(C)* 83 (C)» 83
(D) 93 (D) 93
[Series-A] [CET-BED : 2021] [Page- 6]
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| 45. ‘49 163 36’ 64’———

(A) 300
(B) 200
(C) 100
(D) 150

Directions (Question Nos.46 to 50)

In each question two statements (I) and (II) are
followed by four conclusions. You have to take
these two statements to be true even if they seem to
be at variance from common known facts and then
decide which of the conclusions logically follows

45. 4,16, 36, 64,

(A) 300
(B) 200
(C) 100
(D) 150

9 (39T wo—46 ¥ 50)

i &7 7Y W # a1 e () iR an) Ry v §
W TR eed ® wiftd §| dudl & 9 4Fd
g0 IR 98 9 i 9 i e 8 ol
Iy 5 I Ty et & si—ar fispd =23 1o

from the given statements. FIT B AMR W THETd w9 9 HTHRUT BT %I
46.  Statements : 46.  HYH :
(T) All boys are beautiful. n T T A
(1) All beautiful are lovely. (Ii Re Y ggl
Conclusions : (I £ e |
(A)  Allboys are lovely e -
(B) Some boys are lovely (A)e St m IR &
(C) Some lovely are boys (B) O ISP WUR &
(D) All beautiful are not lovely ©) E;U N TSP &
(D) O FaRd WR el §
47.  Statements : 47.  FYF .
(1) Manish is a plaver M &;T—% 3
(jc‘:;:iu.s;:;ns :" B \‘ i i j‘:fj g
(A) Manish is tall Y -
(B) All tall men are players (A)e HHY o
(0) Tall men are not players (B) T T redT Raarer €
(D) Manish is not tall (©) IR red f@?ﬂ@ﬁ T
(D)  HAIY T AE @
48.  Statements : 48.  HYA :
() Some people are wise. M) HY AT gﬁﬁﬁ F
(11) Some people are rich. E ¥
Conclusions : (IT) 7o gl
(A) All the people are not wise but rich Frepy :
(B) Some wise people are rich (A) ﬂﬁ AT g S 78] offh 3R 2
(©) Some people are neither wise nor (B)e m gf%qm T AR
rich m 3
(D) None of these © EE?, @ 7 IR A &
(D) T P T
49.  Statements : 49.  HYH
6y Some cats are good. ey Rfverdt ared
(1) Some cats are black. M v m 5 § I
Conclusions : (D) 7Y Telesll |
(A) All black are good M :
(B)  Some good are black (A) 1 Frell I B L
(C) Some black are good (B) Y IS PTeil &
(D) Some good are cats ©) @Wmé
(D)e &B ! fdfeeral &
[Series-A {CET-BED : 2021] [Page- 7]
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50.

Statements : )

(I) All the books are notebook.
(1) Some copies arc novel.
Conclusions :

(A) All the books are novel

(B) Some books are novel

(©) Some novel are books

(D) None of these

Directions (Question Nos.51 to 55)

In each of the following questions four possible
answers are given. Find out the most suitable

50.

PY :

(W g N R |
(1) v ot e g

(a) o g e §

(B) @B YWD HAfdel §

(C) TP Ad D ¢

(D)e T ¥ B T

e (e Ho—51 ¥ 55)

e gle vl & IR FRIfiT ST Ry 1
8| 3RS IH IR BT |

answer.
51. People wear goggles because : 51, ST Mo YR § il
(A) T.hcy. protect their eves from (A) A9 & g A sitEl @ T
dizzling light 5
(B) They conceal their eyes - N L )
(C) By it they look handsome (B) ¥ rﬁ & U & o
(D) They see better by 1t (C)e 3D ERT X ST IR B
D) 0% gN &R <&
52.  Anil is not interested in Sunil, because: 52. @Fw ‘\j‘rﬁa 7 feoaw 781 od, dile
: (g) ﬁ:m{ ;s a poor m;m (A) afre 9 &
) o e (B)e T 3781 IR & v &
(©) Anil is black i _ .
(D) Anil is a short man € 9 if'\“’f Pl ?
(D) FlHc dIcl 8
53. Police man wears a uniform because 33 :ﬂ-— 34 NS TEAT & difd
(A) it is provided by government free of A) THD .‘_»1_:; PR gRT Jod g
cost R el O
: S E IRE S &
(B) 1t scares the criminals = e \
(C) he can be easily recognised C)e TF IWMI q:{‘qga. T S Al &
(D) its keeps him smart (D) iy 98 X iR E G
54. The right order of the structure of mind 4. BTEUES D IR H DI WG Pl FET BT
according to Freud is : 2
(A) Sups:r Ego-ID-Ego (A) }%&@—m— uEn
(B) ID-Ego-Super Ego o e b '
(C) Ego-Super Ego-ID (B)* :~_:_~—x‘7?‘:;—?1' SEL|
(D) [D-Super Ego-Ego (C) FeH—JIaAeH—3<H
(D)  FEE-FAIEA-NEH
55. Language is: 33 a9 3
(A) Speech (A) HqTIOT
(B) Posture (B) e
(©) Gesture
(D) Emotion ©) KIE]
(D)*  HIqI
[Series-A] [CET-BED : 2021] [Page- 8]



SECTION-1V

| (@s-1v)
|
GENERAL AWARENESS
(AT SR)
56.  Which of the following is an ore of iron? 56. fr=fafad & a9 1o die o & ?
(A) Hematite (A)e EHTCTEC
(B) Alluminium ST Eo
) ' () Bauxite (B) oD
(D) Cinnabar (©) MERIES
! (D) RITaR
57. Puregoldis: 57. & |
(‘\) 14 Karat (A) 14 HIG
(B) 24 Karat
(C) 18 Karat (B)» 24 B30
(D) 22 Karat (€) 18 I[d
(D) 22 BId
58. Which of the following is a bacterial 58 FreifiRad § i siar R w7 &7
disease? (A T
(A) Measles (B) G
(B) Leprosy :
(C) Scurvy (©) qa;é‘ -
(D) Diabetes (D) HEHE 4
59. Scurvy discasc is caused by the deficiency 59. Fud 4 ¥ =8 Iws I BT g ?
Z’X) iR (A) fem@Ecs
itamin
(B)  Vitamin D ®) [E&HID 4
(C)  Vitamin A © faefF A
(D) Vitamin K (D) flefF ko
60. Most hazardous metal pollutant of  60. dfcHEge e ¥ Pae Tl aals
automobile exhaust is : It rares YeNE g
(A) Mercury " WH_C;%
(B) Lead (A)
() Tin B) S -
(D) Copper (©) feq
D) W
61. Benzene is : 6l. &G &
(A) Gaseous pollutant Ae IRy PERED
\ (B) Liquid pollutant (B)
] (C)  Solid pollutant B) =i e
| (D) Al of the above (C) ORI Ygy&
(D)  SWE W
62.  Which one of the following is not a search 62. fr=feRad § dF—ar wd 3o el 87
engine ? A UG
(A) Google (B) s
(B) Chrome ( ‘)'
(C) Yahoo (©) arg
(D)  Bing (D) fdm
[Series-A] [CET-BED : 2021] [Page- 9]
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National Press Day is on :

63. 63. ISy U9 feaw w9 ® 7
(.A) November 15[' (A) AqHEY 1
B October 21
EC; November 16™ (B) TR 21
(D)  January 7% (€)  TIWR 16
(D) SFRI 7
64. Who among the following is known as  64. o= § & &F 9rg § gRRURS & Ao
‘father of ecology’ in India ? e &
(A) P. Maheshwari (A) .m.o w
(B) S.K. Kashyap .
(C) B.P. Pal (B) UH0®0 H3TY
(D)  Ramdeo Mishra (C)e  d0d0 U
(D) e fAsm
65.  The most controversial amendment passed 65. HFUGaE @ &g RT3 fqafed geneA
during the emergency was : ofT
rd .
o
(C) 42nd (B) 4149]
(D) 44t (C)e 4297
(D) 444]
66. In which of the following states was the 66. fr=fafEa 3 gdwm fand v D) W]
Panchayati Raj first introduced ? 58 o § I & 78 o 0
(A) Rajasthan X : )
(B)  Gujarat e bisnis
(®) Uttar Pradesh (B) HERE
(D) Bihar (€) TR WY
(D) fER
67. In which year Saraswati Academy was 67. T H O] F@EE F WY Hd E—s‘
established in Darbhanga ? oft ?
(A) 01* January, 1901 . I - S
(B) 01% January, 1909 - ST
(C)  01% January, 1903 (B) 01 STaRT 1909
D) 01% January, 1912 (C 01 wi-ax] 1903
D) 01 THa 191
68. The Ministty of Human Resowrces 68, T3 €6+ a1 93700 9047 T o :
D:.)\'elc)pngegt was cgeal?g irz the year (A) % W 1985
(4 26 September, 1985 - _
(B) 28 Devember, 1953 (B 23 TR, 1953
(C) 18 December, 1953 (C) 18 TSHRK, 1953
(D) 02 September, 1985 (D) 02 FyawR, 1985
69.  The tomb of the ruler of Delhi issituated on: 69, 25 3 a9 IN R OF FT HHR RS
(A) Vaishali 2 )
(B) Darbhanga X A o
(C) Sasaram (A4) ;h_
(D) Gaya (B) A
{ C ) NIk
(D)e ]
70.  Lalit Kala Akademy was established on 70.  WHicld T JHICH! B R g off
El;)) i;_* (A) 1954 #
© 1965 B)e 1972 1fr
D) 1953 (©) 1965 #
(D) 1953 #
[Series-A] [CET-BED : 2021] [Page- 10]



71.  India’s first air taxi service was launched in ~ 71. 9Rd @ Ugall WR ol dar fog o §
which State ? 3R] aﬁ "Té ?
(A) Bengal (A) ST
(B) Haryana _
(C)  Uttar Pradesh (B)s  &Raw \
(D) Andhra Pradesh (C) 3N gyl
(D) T WY
72.  Who is the first Chief Defence Staff of 72, ¥R & Uga T 3% B~ ©€IH P 2?
igia? Vo Mukund N (A)s TS Y@ TR0
anoj nd Naravane
(B)  Rakesh Kumar B) X a;s's TR
(C) Karambir Singh (©) i
(D)  General Bipin Rawat (D)  SRd f&4fUF aa
73.  Which is the largest river basin in India? 73, URAT A 99y CE| 48) e ®1F w1 27
(A) Ganga Basin ' (A) T 9
((Ig; gz;goof }l;isnl;al (B)e .U
(D) None of the above ©) Rl E_l ol Eﬂ@
, (D) T A BIg T
74.  Which State is the largest producer of rice in 74. ¥R ¥ IEA HT IGH ST IATGD g GG
India ? g7
(A) West Bengal , :
(B)  Uttar Pradesh (A)+  IREH I
(@) Jharkhand (B) SR e
D Bihar (C ANEUS
75. s the unit of frequency : 75. Cﬂ'@%’ F 55
(A)  Hz (A)s Hz
(B) Kilo Hz (B) Kilo Hz
(C) Hz/Sec (C)  Hz/Sec
(D) Kg Hz/Sec (D) Kg Hz/Sec
76.  Horse power is equal : 76. ¥ TR R &
(B 746 watt ;
2) il (B). 746 FCH
(C) 11,000 volts ‘
(D) None of the above © 11,000 dfecy .
(D) T ¥ B T
77. Who has recently been appointed as the 77. T H 5y uRT T = Iy e
Chief Justice of India ? T T ¥ ? b
(A) Rajesh Bindal A e~
(B)  Sharad A. Bobde () o fiTe
(C)  RamanaN.V. (B)*  ¥RE Qo qI9S
(D)  H.J. Kania (C)  HUIT 0410
(D)  TAON0 BT
78.  Which State has won the e-Panchayat Award ~ 78.  &cRI—1 # fog o1 F Il Gl AR
2021 in category-1 ? Y ?
(A) Andhra Pradesh R
(B) Arunachal Pradesh (A) S e
(C) Himachal Pradesh (B) SO cf m
D)  Uttar Pradesh (C)e T2HTES U9
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Where is the Bank Note Press located ?

79. : 79.  d% Arc Y9 Fel v € ?
(A) Nashik . (A) Tif®
(B) Mumbai (B) W
(C) Dewas
(D)  None of the above (C)e QIN
(D)  SudwH ¥ | BIg 7E
80. Which great man’s birth anniversary  80. B HEM YOV & oW fad U e
commemorate as National Education Day ? fag @ wU & Ty ST & ?
(A) Mahatma Gandhi o
(B) Rabindra Nath Tagore (A) 5 TTTEﬁ\\
(C)  A.P.J. Abdul Kalam (B) = T F’W
(D) Maulana Abul Kalam Azad (O) QOUE S0 3 dAKA HelH
(D) HIATT el Helld W
81.  Tehri Dam is the highest dam in India and is 81. fC20 379 wRa o7 999 AT 919 & 3R g
located on which river ? TR Remd?
(A) Kamala river . " i
(B) Mahananda river ) ST
(®) Bhagirathi river (B) elal gL
(D)  Phalgu river (C)  FriRel 7
(D) DAY :ﬁ
82.  Who was the leader of Chipko movement ? 82. B EET I WA = 9 ?
(A) Medha Patekar A) =T O
(B)  Swami Nathan ,' P
(©) Sunderlal Bahuguna (B) ks e
(D) None of the above (<€) Yseller Q1™
(D)  FT W PR T
83.  What is PHP in programming ? 83.  urmfT A dovaodio & ?
(A) 1Creneral purpos¢  programming (A)e WM W AT TSt
anguage
(B) Central processing unit ‘B} ",_'7:7 g “’“ L
(C) Central processing union (©) Ve NI 9
(D) None of the these D 1 9 Dl el
84. When is computer literacy day celebrated ? 24 FFYCY Wi =98 $9 5917 6T 27
A) 05 December (A) 05 feamaw
(B) 14 December e ii Diiiisa
(®) 22 December lij" &% RN
(D) 02 December (©) 22 a%
(D) 02 fRaR
85. Who is the first female poetess won the 85. 3= @fear & fou g¥-2020 &1 Qifeey
Sahitya Akademi Award-2020 n Hind: P TRHR g vo A s =
Poetry ?
(A) Anita Verma it ?
(B) Anjana Dev (A)
(C) Anamika (B)
(D) Asima Bhatt (C)
(D)
86.  The Constitution of India is : 86. YR 4
(A) Very rigid (A)
(B) Very flexible ,
(®) A combination of rigidity and (B)
flexibility (&)
(D) Neither rigid nor flexible (D)
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87.  ‘Durand Cup’ is associated with the game of: 87. ‘¥ &Y fhw wa W Wit §
(A) Football - (A) W
(©) Cricket ©) frae
(D) Hockey (D) =t
88.  Niti Ayog formed in : 88.  +fy AT BT e gaw
(A)e 0l January 2015 (A)  Ta9 01, 2015
(©) 01 March 2015 ©) 74 01 2015
(D) 13 June 2015 (D) W 13, 2015
89.  PNR-381 is a improved variety of : 89.  loTH03MR0—381 e I-id e & -
(A)  Rice (A)  T9d
(C) Pulse
(D) None of these Eg; g 3 ﬁé .
90.  Which is the best breed of buffalow ? 90. ¥ B GIY YT T P ¥ ?
(A) Murra (A) qu’[
(©) Totapuri S
(D) None of these EI(;)) s ?fﬂ‘ér 08
91.  Who won the Kabaddi World Cup (Circle ~ 91. %1 sqg€) de¢ &v (@f¥d werea) 2000 @1
Style) 2020 7 R A & 7
(A) Iran A =TT
B India B) =
(C) Pakistan 2
D) Bangladesh Eg; Bedbua
92.  Which organisation won Nobel Peace Prize-  92.  Hfddt favg wnfq arare—2020 frg wwen @ yrg
2020 ? T ?
o C OU%H0dT0
(D) ILO (C)  S<YoUH
(D) 3MS0TI03T0
93. Who is the Education Minister of Bihar at 93, fygr & Ry 55 39 & (actm ) ?
present ? (A) S A
(A) Ashok Chaudhry
(B)  Krishna Nandan Prasad Verma (B) PO T FEIE A
(C)  Prashant Kumar Sahi (€)W HAR el
(D) Vijay Kumar Chaudhary (D) faog AR R
94.  Who is ‘Sahityakar’ of Bihar ? 94. &R & WftdeR & ?
(A) Ramdhari Singh ‘Dinkar’ (A) IR Rig sy
(B) Gopal Singh ‘Nepali’ (B) Muret Riz Yo
(9] Pandit Ram Avtar Sharma ©) 9T W AR I
(D) All of above =
@) | S
95.  Letter, email, telephone are examples of : 95 ‘éa gfm o TSR §
(A) Message (A) e
(B) Channel R
(C) Feedback (B) T{WF
(D Encoding (©) vledd
(D) ZADIlE?
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SECTION-V
(@vs-v)

TEACHING-LEARNING ENVIRONMENT IN SCHOOLS

(feemerat & R vd 9 @1 armaRen)

96.  Which philosophy advocates role of a 96. 9§ BT W g O forel sramus @
teacher as strict disciplinarian ? ';Iﬁ—(m B TP FIHTE eﬁgrqumﬁ P HYH
(A) I('ieahsn_a el Bear & ?
(B) Naturalism (A) b
(C) Realism ; o
(D) Existentialism (BY  Wplous
(C) BRIDEI
(D) GRS [ [
97.  Which of the following ‘Pillars of education’ R e C gt B dete o o e
has its support from sociolagy ? e fAar 22
(A) Learning to know (A) 9 3 v
(B)  Learning to be ECH Wy
©) Learning to do (B) il **’:{Efﬂ :
(D) Learning to live peacefully with (C SN WSt SR - <
others (D 0 P Y AEs el $ fag
98.  Right to Education came into force on : e & SRR SRR 31 1 &3
(A) 1 April 2009 (A) 1 30 2009
(B) 1 Apr%l 2010 (B) 1 38 2010
D) 1 Aprl 2012 © 135
D) 1 3T 2012
99.  Effectiveness of teaching depends-on : EU-FHTa S Torar R Bedr 8
(A) Qualification of teacher (A fBr=s 31 grgg
(B) Personality of teacher 2 T s e
(C) Handwriting of teacher - TG —
(D) Subject understanding of teacher > _:_;___:: ? ;_‘:j :; s 51 2
100. A mathematics teacher discussed some T F U9 9 o5 § Y U HCT 8
problems in the classroom and then d 71 399 415 UIE1 & T ¥ o TS SR
the stpden-:s to work out some problems T FE D AU T 2 =1 Rafy § v
given in the book. Students are practising the REfm s T T i
law of : : e S :
(A) Contlgulty \ ‘\} l"x:n’C\ | Dl : g4
(B) Reinforcement (B) :NEERICINEEL
(C) Readiness (©) Feaedr @1 fam
(D) Exercise (D) IR F 0T
101. In the history of education in India, arrange Twva ¥ 3 @ sfogw § f=ifea qg?qrpf
in temporal sequence the predominant THTE & Blia® $5 5 Yol &9
influence of the following (a) U3
(a) democracy R
(b) religion : e
(cg poligtics (€) S,
(d)  modernisation (d) IFHDIP \,
(A) a,b,c,d (A) a,b,c,d
(B)  b,c,a,d (B) b,cad
(@) c,b,d, a (C) » c¢,b,d,a
(D)  d,abec (D)  d,ab,
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102, Knowledge of individual difference in the 102. Fa7 H Rp e @ S gqd P Heag
class will help a teacher to : XA
(A) maintain discipline in the class " e T W& B R
(B) cvaluate the homework of students (a) . 3 :
(C) plan the teaching learning activities (B) faenforat & lgdilﬂ CRIE A B
(D) make necessary arrangements in the %R’
class (C)  HUTA-3RAGH F B GG G
& fog
(D) BET ¥ AP AGRAT G- & fory
103. Modernisation is the process of : 103, aefyestenyor fchar & :
(A) Capitalisation (A) WU-,
(B) Change and adaptation R
(C) Sanskritization (B) j 4 AR
(D) Stratification (©) ?NQS[?'W“I
(D) IR
104, The mid-day meal programme for primary 104, fe—< 0o a1dsH yufe Reeat ¢ foru
school was initiated with a view to : = R ¥y by
(A) increase enrolment AT R gar
(B) involve community (4) ’ R ﬁm
(C) engage teachers (B) SEEIE ﬂﬁ AN & F fery
(D) increase the employment (©) YD DT AT DY B forg
(D) VIR dgH B forg
105, Which one of the following teacher d 05. = ¥ P-% Rere @ I e uas
(A)  Punctual = s
(B) having research aptitude (A)
(©) loving and having high idealistic (B) 9T AT e @)
philosophy (©) WX 3R S Aevivs goF
(D) who often amuses his students (D) SRR Ao fAemft @) afafeq
N
106. SCERT was established in : 106.  THOM0Z03MR0EI0 w=Iig g3 o
(A) 1988 (A) 1988
(B) 1999 (B) 1999
(C) 2000 (C) 2000
(D) 2001 (D) 2001
107.  Project mv;lﬁod istropagated by : 107. o fafy ufwfed & 2
(A) illiam James faferay
(B) Kilpatrick (A) hi
(C) John Dewey (B) | IUEI “E l
(D) John lock (©) ST
(D) SIERNIED
108. V\f/jhichli).ne c;fthe following is a good method 108. =1 ® Sl9—wr U R0 T 8] il &
of teaching ’ (A) R 3k
(A) Lecture and dictation AR T
(B) Seminar and project (B) 3R
(C) Seminar and dictation (&) AR 3R ‘ﬂﬁ'@'@
D Dictation and assignments (D) gaed IR Y
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Which of the following does not belong to a

109. 109. 4% 4 B4 Hroaes Te ¥ §aRd 98 & ?
projected aid ? : X IRTT oFe
(A) Overhead projector (B)
(B)  Blackboard (B)  ¥umMUg
(C)  Epidiascope ©+ UfsaRam
(D) Slide projector (D) TAES WoideR
110. Which examination has no place of 110. &g wey & T&qrd &l ﬁl’&; I F&l 8ldr?
?{;s)crmur\l;itig; t‘; (A) Yerar
alidi aTTEAT
(B) Generality (B? . p
(C)  Reliability (©) aN1ad
(D) Objectivity (D)e T
I11. The stage in between childhood and ~ 111. gFr=urEwn 3R Zarewey & 419 @ araRer ?
adulthood ? (A STSHU
(A) boyhood B 4 -
(B) . infancy ok sl
(®) adolescence (Cr PN
(D) youth D CCIy
112. Curiosity : 112. fosrm
(A) Feel to know Ale TFF B =
(B) Feel to live Ao
(C)  Obey = st
(D) Whole knowledge € N
(D) g
[13. The aim of teaching is : 113, fRmeor @71 Seewy @
(g) to provide knowéedge ;-O sltudems (A) BIE Pl 19 ST HIE]
(B) to encourage students for’learning R) ey — - N
(C)  to motivate students B SR -; $ ol MKl e
(D) All of the above C el B SRR FY
D)« 394 941
114, Which method is raising interest in class 114. = 380 & 319 999 &1 9 9 § Ay
teaching ? BT E ? )
(A) S_:tud.y of stgdents (A) TS BT AT
(B) Clarity of aims 4
(©) Measurement of interest (B) SeTd P ]
(D) All of the above (C) 3y AmA
(D)s ST W
115. The aim of value education to inculcate in 115, 7eg e o1 3evy faenfiat & dwer q9mr 2
students is : (A)e Afted Hog &7
(A) the moral values (B) TERTE 5T F
(B) the social values v R
(©) the political values
(D) the economic values
116. Which one of the following is informal 116.
mstitution ?
(A) Classroom
(B) Playground
(€) Library
(D) Seminar
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117. What kind of work is remedial teaching? 117. IYGRIAS O &7 o1 &
(A) Instructional A GHQ'?W
(B) Negative (#) AT
(©) Imperative (B) ¢
(D) Theoretical (©) HETHD
(D) dgife
118. Who said ‘Man is perfect and education is 118. fhaa el il 1{0’[ 2 aur e LGS H
| the manifestation of the existing in man.” ? EELIGH Tﬁ(—ﬂ B e 21 ?
‘ (A) Gandhi (A) i
| (B) Frobel _ e
| (C)  Vivekananda (B) W4
| (D)  John Dewey (C)+ fdom=
; (D) W =@
'f 119. Which one of the following is nota projected  119. o= # $l9—41 weId Suyawvl 78} & ?
o ,
i Zlf) ' Photographs &) T
(B) Flash card (8) RE
(O) Slides (©) SYUEE]
(D) Puppet (D), TUE
120. When child fails, means : 120. W9 927 Bd BT ¢, arcdd &
(A) Child is not able to learn (A) I ‘TGT&; @ foro ang =6 2
(B) Child is not remember .tl.xe answers (B)e = 3 IR T e TS a2
(©) There was a need of tuition
(D) The system has failed (©) = B R EI% ST o
D) ORI %d & &
a Rough Work
(e Fr)
:
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6. | Each question has four alternative | 6. [ ydd Y3 @ foll IR fadwed (A), (B), (C) @
responses marked as (A), (B), (C), (D). | (D) feu Ty &) amud e SR @ |eHa M
You should darken correct answer in BT e BT 2 |
corresponding circle. |

7. | Your response to the item is to be |7. | ¥l @ S &dd OMR SR THF W o
indicated on the OMR answer sheet 3ifhd wA B
only.

8. | Answers marked in question booklet | 8. | yFH-qRadI # 3ifdd SR @ qeudd @
will not be evaluated. Rough work is to fasam e | deEn wm gw gRae @ eifon ge
be done at the end of this booklet. W TN |

9. | You have to return only the original | 9. | U@l T<iaT FATa &1 T &ad NOTHOIRO P
OMR sheet to the invigilator at the end o WY @8 Res 7Eeg 3 dier aaEs
of examination compulsorily. 2

10. | You are permitted to take away the | 10. | 31U%! I5-0RG&1 IR FOUHONRO & T
question booklet and second (carbon) | (®149) 90 o 9 B FAC ¢
copy of OMR Sheet. ‘

I1. | Use of calculator, log table or any 11. 708 % 3% USR &1 dadgecy, arcsd I1

| clectronic equipment in examination T3 9 WIS SUDN & TN I &
is prohibited. ‘

12. | In case of any mismatch of questions, | 12. | /&% 759 &1 995 @ T 5 30w G0 Bl
the English version will be deemed to T8 T Fvm, a2 ys-aige fBandy o
be correct, if the question booklet is ‘
bilingual. |

13. | For each question, darken only one| 13. | 7% 7+ @ a0 T 38 W 33 (& T |
circle on the answer sheet. If you | i 31 ¢l IS I @ | S\ A
darken more than one circle or darken a Bl O G Fe w4 W [ Tl P
circle partially, the answer will be frar, o 59 WaTel @1 WA TAd HET SO |
treated as incorrect 1

14. | Note that the answer once filled in ink | 14. | & & (& (o9 Qaidl & @6 Ud @R Pﬂ'ﬁ g

! cannot be changed. If you-do not wish ‘ | 9% 3:‘_“ T4 9541 F8l @ 96di| g YD)

i to attempt a question, leave the circle | &4 99d & I8 :';*“' 241 T84, 99 Uf @
| in the corresponding row blank. Such | T ;——:— BIE ¢ U8 uml 4 o1 ad a8
| question will be awarded zero mark. | four =o

| 15. | There is no negative marking. [ 15. | <9feg =fen 78 21




